



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^0 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{3}\right)^0 - \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{5}\right) =$$



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) = \frac{653}{1080}$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{4} = \frac{13}{36}$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{6} = \left(-\frac{1}{150}\right)$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{4} = \left(-\frac{161}{216}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) = \frac{32}{45}$$

$$\left(\frac{1}{5}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) = 1$$

$$\left(-\frac{1}{5}\right) + \frac{1}{3} = \frac{2}{15}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{1}{3}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{21}{80}$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{2} = \frac{9}{16}$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{6}\right) = \left(-\frac{37}{750}\right)$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{4} = \frac{5}{18}$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{4} = \frac{13}{16}$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$\left(\frac{3}{4}\right)^3 - \frac{3}{4} = \left(-\frac{21}{64}\right)$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{22}{135}\right)$$